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Accountancy ========25
1. “Birgunj College” is a —
a) Personal Account b)Real Account c)Nominal Account d)All of above
2. “Bank balance at Sanima Bank Limited” is a-
a) Personal Account b)Real Account c)Nominal Account d)All of above
3. If no. of share issued is 10,000. Which one is over subscription?
a) No. of share applied = 9,000 shares b) No. of share applied = 11,000 shares
c)No. of share applied = 10,000 shares d) All of above
4. Purchase Book does not record the-
a) Cash purchase b) Cash Sales c) Fixed assets purchase d) All of above
5. “Interest Expenses” is related with-
a) Bank Loan b) Debenture c¢) Loan from d) All of above

6. Cost of Goods Sold (COGS) is equal to-

a) COGS = Opening Stock + Closing Stock — Purchase ¢) COGS = Opening Stock + Purchase - Closing Stock

b) COGS = Opening Stock - Closing Stock — Purchase  d)COGS = Opening Stock + Closing Stock + Purchase
7. Which is correct?

a) EOQ = % b)EOQ = % ¢) EOQ = \/? d) EOQ = %
8. Bank Cash Book Refers-

a) AGF No. 5 b) AGF No. 10 c) AGF No. 8 d) AGF No. 12
9. Cash paid for the school fee of directors’ daughter Rs.12,000 is —

a) Drawing b) Expenses c) Income d) Assets
10. In Cash Flow Statement, Payment of “Wages” is related to-

a) Operating Activities  b)Investing Activities ¢) Financing Activities d) None of above
11. Trial Balance shows the —

a) Financial Position b) Net Profit c¢) Arithmetic Accuracy d) Cash Flow
12. If Goodwill is Fixed Assets, what is Preliminary Expenses?

a) Current Assets b. Fictitious Assets c. Fixed Assets d. None of above
13. Depreciation .................. the value of fixed assets.

a) Increase b) Decrease c) No effect d) All of above
14. “Salary” Paid is a...

a) Revenue Expenses b) Capital Expenditure c) Capital Income d) Revenue Income
15. If CL = Rs.100,000, CA = Rs.300,000, Inventories = Rs.100,000, what is the value of Quick Ratio?

a) 2:1 b) 1:2 c) 31 d)1.5:1
16. Which account is debited, in the financial transaction “Salary Paid to Ram”?

a)Ram’s A/c b)Cash Alc c) Salary Alc d) None of above
17. If “Closing Stock’ is given inside of trial balance, which one is correct?

a) Debited to Trading A/c b)Credited to Trading A/c

¢) Shown in Balance Sheet d) Credited in Trading A/c & Shown in Balance Sheet
18. Cash paid for installation of Plant and Machinery is debited to.............

a) Plant and Machinery A/c b) Depreciation A/c c¢) Cash A/c d) Purchase A/c
19. Credit Sales ............... the Debtors.
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a) Increases b) Decreases c) No Effect d) None of above

20. What is the full form of “EBIT”?
a) Earnings Before Tax  b) Earnings Before Interest & Tax  c) Earnings After Tax d) All of above

21. How many types of cash book are there?
a) 4 b) 3 c)2 d)5
22. What is the full form of CRS in accounting?
a) Cash report statement b) Cost reconciliation statement
c¢) Computerized reporting system d) Compound result software
23. How many types of stocks are maintained by business organization?
a) 4 b) 3 c)2 d)5
24. Tender sheet is prepared for
a) Cost of production  b) Net profit ¢) Quotation price d) Factory cost
25. What is the full from of LIFO ?

a) Last in first out b) List inward first outward
c) Lower internal fast operation. d) Last internal fast occupation
English ========25
26. He taught me well : In the sentence ‘well’ is
a) Adjective b) Adverb c) Verb d) None of above
27. In which of the following words ‘I’ is silent?
a) Calm b) Call c) Cold d) None of above
28. Which is the correct passive voice of ‘He has to learn it’?
a) Itwas learnt by him b) It has to be learnt by him C) Let it be learnt d) None of above
29. You must be grateful your teacher.
a) to b) from c) of d) for
30. What is the synonym of the word 'amend'?
a) revise b) deceive C) justice d) adorn
31. Mrs. Kelly goes to church every Sunday.
a)a b) an c) the d) none
32. 1f | his number, I would phone him.
a) know b) knew ¢) have known d) had known
33. Julia prefers tea........... coffee.
a) over b) too c) to d) than
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34. If a ruby is heated, it....... temporarily lose its color.

a) would b) will c) does
35. You have done well,........... ?

a) don’t you b) has it you d) do you

36. Past participle form of ‘fly’ is:

a) flyed b) flew c) flown
37. Would you mind............. your car?
a) move b) moving Cc) to move
38, his hard work, he failed his exam.
a) Although b) Though c¢) Despite of
39. Look before you...........
a) leap b) talk c) sing
40. My brother-in-law is............. university professor.
a) a b) an c) the
41. People asked him ifhe............ us.
a) will help b) help ¢) would help
42. If Anna .......... some money, she would go to the movies.
a) were have b) would have ¢) had had
43. Nobody knows what happens tomorrow, .......... ?
a) doesn’t they b) don’t they c) do they
44. He has been working in this office........ seven years.
a) From b) since c) for
45. They were talking............. themselves.
a) between b) among c) to

46. Speak loudly as he is slow....... hearing.

a) at b) in c) about
47. Two women had............ handbags stolen while they were watching the film.
a) its b) their c) her

48. The active voice of the sentence ,It is to be done by me." is:
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a) I will doit. b) I shall do it. ¢) lamtodoiit. d) I had to do it.

49 The dead body of a human being is called:

a) pure b) corpse
50. They’d go with us,.............. ?
a) won’t they b) hadn’t they

Business Studies
51. Which of the following is not principles of F.W. taylor?

a) Formal Rules and regulation
¢) Unity of commands
52. Who is father of bureaucracy management theory?
a) Henry Fayol. b) Max webers
53. Which Ms is benefit of decentralist
a) Relief to top management
¢) Low moral and motivation
54. Decision making is the process of
a) Selecting best alternative.
C) continuous process
55. Which of the following is the principle of direction
a) Harmony of abject ire.  b) Scalar chain
56. Process of motivation
a) Needs drives and incentives

c) drive and incentive

C) carcass d) rayon

c) wouldn’t they d) would they

b) Division of works

d) Authority and responsibility

¢) Ricky w. griffin d) Fredric Winslow Taylor

b) Manager is over burdened

d) All of above

b) goal oriented process

d) All of above

¢) Outstanding leadership. d) All of above

b) Incentives and drives needs

d) needs, incentive, drive

57. Which of the following is the role of family business management

a) Source of employment  b) Effective control
58. Features of effective organization goal is ..

a) SMART b) TMARS

59. Profit doesn’t have to share this statement refersto ........

a) Partnership b) Sole trading concern

¢) Quality control d) All of above
c) SLMCR d) All of above
c) both A and B d) Joint stock company
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60. The maximum number of member in private company is
a)7 b) 101 c) 20 d) 50

Business Math
61. Which is known as average?

a) Arithmetic Mean b) Mode ¢) Quartile d) All of above
62. Repeated Value Shows-
a) Mean b) Median c) Mode d) None of above
63. Which is correct?
a) Mode = 3 Md - 2Mean ¢) Md = Mean + Mode
b) Mode = 2Md — 3Mean d) None of Above
64. If P = Rs.100,000, r= 10% and n=1 Year, Simple Interest is equal to
a) Rs.5,000 b) Rs.10,000 c) Rs.2,500 d) Rs.7,500
65. Which is Square Metrix?
a) Diagonal Metrix b) Scalar Metrix c) ldentity Metrix d) All of above
66. "C=?
n! r! n!
a) oo b) o ) a) yem d) None of above
67. Which is an empty set?
a) {0} b) @ c) {0} d) None of above
68. Which is correct?
a) Sn=§(a+tn) C)Sn=§(a+l)
b) b)Sn = §[2a + (n - 1)d] d) All of above
69. Which is correct?
a) C.V.= gx 100% b)a) C.V.= gxloO% c) C.V.= gx 100 % d) All of above
70. What is the value of i2?
a) +1 b) -1 C) +i d) -i
Economics

71. What is opportunity cost?

a) Next best alternative sold b) Next best alternative purchase
c) Next best alternative received d) Next best alternative forgone

72. How many sellers sell their goods in monopoly?

a) Three b) Two c) One d) Four
73. What is the formula of Total Revenue?

a) (PxQ) b) (P+Q) c) (P+Q) d)(P-Q)
74. What is variable cost?

a) Change with fixed factor b) Change with producer
¢) Change with variable factor d) Change with decision
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75.

76.

77.

78.

79.

80.

GK &Current Affairs

Total cost is defined as.....

a) Sum of AVC+AFC b) Sum of MC

¢) Sum of TVC+TFC d) Sum of TFC

The condition of maximizing profit of a firm under TR-TC approach is....

a) Gap between TRand TC
c) Intersect between TR and TC

Industry is the group of firms which produces ............

a) Heterogeneous product

c) Differentiated product

Which factor of production takes rent?
a) Labor b) Capital

Which bank has right to issue note in the economy?
a) Commercial bank b) Development bank

What is free trade?

a)No restriction to produce goods/services
c) No restriction to buy goods/services

81.

82.

83.

84.

85.

86.

87.

88.

What is full form of BBS?
a) Bachelor of Business Studies
b) Bachelor in Business School
What is the full form of NEB?
a) National Education Board
c¢) National Enquiry Board
How many Local Governments are there in Nepal ?

a) 750 b) 751
When is international literacy day celebrated?
a) Sep-6 b) Sep-7

Who is known as father of education?

a) John dewey b) Socorates

b) Equality between TR and TC
d) Non of the above

b) Homogeneous Product
d) Unique Product

c) Land d) Organization

c¢) Cooperative bank d) Central bank

b) No restriction to sell goods/services
d) No restriction to import and export goods/services

c) Bachelor of Business Society
d) Bachelor of Business Science

b) National Examination Board
d) National Enthusiasm Board

Which is the smallest rural municipality on the basis of geography in Nepal?

a) Gujara b) Parawanipur

Who is the founder of facebook?
a) larry page b) jerry yang

Who is the designer of national flag of Nepal?

c) 752 d) 753

c) Sep-8 d) Sep-9

c) Aristotal d) plato

c¢) Durgabhagwati d) Kalikamai

¢) Mark zuckerbery d) Javed karim
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a) Shankarnath Rimal b) Premnath Rimal c) Devnath Rimal d) Baidyanath Rimal
89) How may metropolitan cities are there in Nepal?

a) 6 b) 4 c)5 d)7
90) What is the name of present education minister of Nepal?

a) Sherbahadur Deuba b) Janardhan Sharma c) Debendra Paudel d) None of above

91) Who is the most responsible for ordinance related to citizenship not to be passed from parliament?
a) Prime minister b) President ¢) Finance minister d) Speaker of lower house
92) Which district the present forest minister of Nepal belonged to?
a) Bara b) Rautahat c) Parsa d) Sarlahi
93) Which sports the renowned player, Sandeep Lamichhane belonged to ?
a) football b) badminton c) Cricket d) Ludo
94) Who named Birganj ?

a) Dev Shumsher b) Bir Shumsher ¢) Jung Bahadur Rana d) Gyanendra Shumsher
95) Which of the following districts are concerned with parsa wildlife reserve ?

a) Bara, Parsa and Makwanpur b) Makwanpur, chitwan and Bara

¢) Parsa, Bara and Rautahat d) Sapatari , Makwanpur and Bara
96) Which district does birth place of Gautam Buddha lie in?

a) Dhanusha b) Rupandehi ¢) Chitwan d) Kapilvastu

97) Which river of Nepal is known as the sorrow of Bihar?
a) Kaligandai b) Koshi ¢) Raptai d) Bheri
98) What is the total population of Nepal. According to the preliminary results of the National census 2078 ?
a) 2,91,92,480 b) 2,54,,92,408 c) 1,64,52,928 d) 2,90,52,802
99) Which place is known as gateway of Nepal?
a) Kanchanpur b) Birgunj ¢) Kapilvastu d) Darjaling
100) What the total area of Nepal?
a) 1,47,181 sq.km b) 1,47,516 sg. km c) 1,40,506 sg. km d) 1,45,180 sg. km. **
Good Luck ***
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